Shot Pin Spare Parts List SAND 50 M
Spare Parts
Pos Part no. | Quantity | Description Type Flag’
10_10 350873 1 housing complete SAND 50
10_10_10 | 243585 2 bush J32.0/40.0 x 40.0 DIN 1850 |R
10_10_20 | 273572 2 bush J32.0/40.0 x 35.0 DIN 1850 |R
10_20 350876 1 bearing bracket complete SAND 50
10_20_10 | 273582 2 bush & 30.0/38.0x25.0 R
10_30 272696 1 bolt SAND 50 M
10_40 272693 bush SAND 50 M
10_50 272688 1 push rod TO1S asynchronous pin SAND 50 M
switching
272689 1 push rod TO3S synchronous pin SAND 50 M
switching
10_60 272695 1 rocker switch SAND 50 M
10_70 272683 1 cover SAND 50 M
10_80 272687 1 bolt SAND 50 M
10_90 272694 1 bolt SND 50 M
10_100 272697 1 sleeve SAND 50 M
10_110 200165 2 cap screw M6 x 10 DIN 912
10_120 200166 2 cap screw M6 x 12 DIN 912
10_130 227474 4 cap screw M 6 x 16 DIN 7984
10_140 220354 1 cap screw M 8 x 30 DIN 912
10_150 200976 8 lock washer S6.0
10_160 200977 1 lock washer S 8.0
10_170 200755 1 washer A-8.4 x 16 x1.6 DIN 125
10_180 200897 1 shim ring 12 x18 x 0.5 DIN 988
10_190 226084 2 parallel pin D 10m 6 x 30 DIN 7979
10_200 201294 2 retaining ring A12 x 1 DIN 471
10_210 200728 1 hexagon nut M8 DIN 985
20 273587 2 position switch
30 200152 8 cap screw M5 x 40 DIN 912
40 200975 8 lock washer S5.0
spare parts sets / accessories
Pos Part no. | Quantity | Description Type
352445 1 repair kit SAND 50

'R = included with repair kit

@ TUNKERS

Erfindergeist serienmafig.

Subject to technical modifications. 11.12.2019

TUNKERS® Maschinenbau GmbH Am Rosenkothen 8 + D-40880 Ratingen Tel. 02102 4517-0 « Fax 02102 445808 Internet www.tuenkers.de



Shot Pin Spare Parts Drawing SAND 50 M

10_30

10_180

10_140 \ e

10_170 10_100

10_40

@ TUNKERS

Erfindergeist serienmafig.

Subject to technical modifications. 11.12.2019

TUNKERS® Maschinenbau GmbH Am Rosenkothen 8 + D-40880 Ratingen Tel. 02102 4517-0 « Fax 02102 445808 Internet www.tuenkers.de



